HANDOUT TWO

VIDEOTELLING SCRIPT

Part one: The setup and problem

Picture the scene:

A chic little Italian seaside town in the 1960s.

We are in the market square, and the fruit seller is having a bad day.

He is having an argument with a bus driver.

We don't know exactly what has happened,

But the fruit seller’s stall is on its side.

It seems to have been knocked over and there are watermelons, pineapples and pumpkins all
over the road.

This is causing a traffic jam,

And the bus driver is leaning out of his window, shouting at the fruit seller,
Telling him to hurry up.

We cut to the inside of the bus.

The passengers are getting restless.

They can'’t continue their journey until the fruit stall problem is resolved.

One of the passengers is an incredibly elegant and attractive young woman: Audrey Hepburn

Part two: The solution

A fancy sports car pulls up beside the bus.

It's a silver convertible with a very handsome driver.

He notices Audrey on the bus.

He catches her eye and smiles at her through the window.
Audrey smiles back.

Moon River starts to play.

The handsome man gestures for her to join him.

Audrey hesitates for a moment, but then decides to accept the offer.

She gets off the bus.

And as she walks past the bus driver, who is still leaning out of his window,
She reaches up and takes the hat off his head.

She walks toward the convertible car with the handsome man.

But instead of getting into the front seat as the handsome man expected,

She gets into the back.

She leans forward and puts the bus driver’'s hat on the handsome man’s head.
At first, he's confused,

But then he realises what's going on.

The handsome man is now a chauffeur.

He smiles, and they drive away.

Audrey Hepburn sits back and enjoys the breeze.

Moon River fades out.



https://www.youtube.com/watch?v=Z6HKWuZPrdU

